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GROUP MEMBER ROLES

The cards offer a second feature: the reverse side of each
card indicates the role the student holding the card is to
perform in the group. After the students are presented
with the task for that day’s lesson, each member of the
group takes on the designated role. These roles are as
follows:

« Discussion Director

* Resource Manager

» Recorder

» Team Captain
Teachers can easily identify the roles that students are
expected to perform since students place their cards on

their desk with the side indicating the role facing up.
The roles are explained as follows:

If you are the Discussion Director, your jobisto ...

» Make sure that everyone has read the problem and
understands what the question is asking. You can
ask, “What do we know?” “What do we want to find
out?” and “Can we make a prediction?”

« Invite everyone in the group to participate. You can

use statements such as, “What is your idea?” and
“What are you thinking?”
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If you are the Resource Manager, your job is to ...

 Ask the teacher a question if all of the members of
the team have the same question.

 Get any supplies needed by the group.
« Keep track of time.

The Resource Manager’s role goes beyond taking care of
the supplies. The Resource Manager is the only member
of the group who may ask the teacher a question. Before
asking a question, every member of the group must have
the same question, and the teacher can then direct the
answer to the whole group. This helps the members of
the group become more interdependent, since group
members can answer many of their questions themselves
rather than relying on the teacher.

If you are the Recorder, your jobis to ...

e Keep track of the thinking of the group. Be
ready to answer how the group approached the
problem. What strategy did the group use to solve
the problem?

 Record the work of the group. Be organized and clear.

» Ask,“Is there anything else we need to include?”
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These practices focus on the specific actions taken by
students who are mathematically proficient.

The eight mathematical practices are:

< 1. Make sense of problems and persevere in
solving them.
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Reason abstractly and quantitatively.
Construct viable arguments and critique the
reasoning of others.

.

Model with mathematics.

Use appropriate tools strategically.

o v A

Attend to precision.
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Look for and make use of structure.

N
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8. Look for and express regularity in repeated reasoning.
(Common Core State Standards for Mathematics, 2010, pp. 6-8)
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The authors of the Common Core carefully chose to begin
the mathematical practices with problem solving. “Prob-
lem solving is not only a goal of learning mathematics
but also a major means of doing so” (NCTM, 2000, p. 52).
Students who are engaged in solving meaningful tasks
are in the process of building their understanding. They
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are making connections, constructing arguments, ana-
&5 lyzing approaches, looking for patterns, and reflecting on
their thinking. These students are learning mathematics,
and they have opportunities to exhibit the eight math-

ematical practices.
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The Collaborative Cards provide students with opportu-
nities to develop proficiency in the eight mathematical
practices. Students solve problems, discuss strategies,
and reason mathematically (Mathematical Practices
1-3). They work with patterns and apply them in various
contexts (Mathematical Practices 7-8). They determine
whether to calculate problems mentally or use paper
and pencil (Mathematical Practice 5). By attending to the
use of appropriate vocabulary and the accuracy of their
responses, they are attending to precision (Mathematical
Practice 6). They use equations to model problem situa-
tions (Mathematical Practice 4).

The Collaborative Cards provide teachers with insights
into what individual students truly understand. As they
apply their knowledge in new contexts, students use
what they know. As one fifth-grade teacher in Grafton,
Massachusetts stated, ‘I gained insights into my students’
misconceptions. These cards are an easy way to learn
about students’ strengths”

oo}
ot SRRKKKKNKKL,
355%&&&%%%%%53&&&5
SSSEREEREREERREKIKELEIEL:

2288

2%
KRR
KKK

o
o
XX

o%

o
X

OO
RS

ote et tetetets!
QKRRLKK
LRRRRRRRR

X
XXRL
2%
K
S

X

s
Q%
200
28
RS

Do e tote e tetetete e eteteteotede!

0% %%
o024

OO0 0 0.0 0.0.0.0.0.0.0.0.0.0.0.0.0
0000000000000 00 00000000, 0.0,0.9,9,9. %,
1262020000 0.0, 0,0,0.0.0.0.0.0.0.9.9:%

o

et
QRRRRRRRRRLRRRRLLRR

0¥
X .‘:’
KRR
b0
S
%
3

KX
K2
K

9



$90909.9.9.9.0.0.0.0.0.0.0.0.0.0.0.0.0.0.9, 0000000000 %0 %0 %0 %60 e e 0a 0 0.0 0 0 0 0 0 0 0 0 0 0 0000002620 %0 0 00 0 0 00 000 000 00909004 %%
':‘:’:’:’:’:’:’:’:‘o‘:‘:’:’:’:’:’:’:’:‘:’:’:’:’:’:’:’:’:‘:‘:‘:':':':':':’:’:‘:‘:‘:‘:‘:‘:‘:’:’0’0’0’0’0’0’0’o’o’o’o’o’o’o’o‘o‘o‘o’0’0’0:0. QR0 RIRRIIRIIIARRINIALRIIIIRIIKRIIIIRRIIANKKS
SRR HRRLHRXLRLLRRKRRKRIKKRLRKRKKRLRRLRRLRHLRHLRRKRXLREKRLKLRIRRLRRLRARRRKK, EBBIRERKY IR RIS
0RO RIIRRIIIRRIIAIRRIIIIKIIRRRIIILRIINXKN QIR RIIRRRIIRRIIRKIIIIIIIIOKKIIINKKINS SRR
$.0.0.0.0.0.0.0 0.0.0.0.0.0.0.0.0.0.90.0.0.0.90.0.0.00.0.0.0.60.0.0.0.0.0000600000006000006000
X XK ERKE IR IR IR X XXX XX I XX XXX XXX II X X H XXX X XXX XK XXX X XXX KX XX K XX X XXX 00 9:0.0.9.0.0. 0.0 00 120000209 %% %
R R R R R R R R IR R R R R RRR R R R R R RRIRRRKRHKKKKKK 3R IRIRRIRRIRRIRRIRIIREERRRRERRKKS: ot
SRR SRR
0.0.0.0.0.0 0.9.0.0.0.0.
SRR . hi . d d ith RS
SRS OPERATIONS AND The first two cards in this set provide students with an 5552
SRR R
oetetetete! : h icall di QKKK
~ ALGEBRAIC THINKING (5.0A) opportunity to look at patterns both numerically and in ~ £:3
9494999 L $909:9.0.%,
950,0,0,0.0, . . 1900:9:9.0.%,
0,0,0,0.%, 5929:9:5.%,
SR a table. The next card involves the order of operations, X35
0.0.0‘0‘0.0 QQQQOOOQO‘Q
0.0,0,0,0.9, KK KKK
0. 0.0,0.%, 9,0.0.0.0.
0.0, 0,0.0.9, . . . . . . . 0070705050 %
9499599 9,0.0.0.0.
2% The Algebraic Thinking deck focuses on the Grade 5 OA while the fourth card promotes algebraic thinking by 255
RIS . . SRS
55555 standards laid out on page 35 of the Common Core State  asking students to work backwards from the answer. As s
59020, 9.%, 0,0, 0.0.0.
96000, 0, . O.0.0.0.0.0,
000,00, : 0.0.0.0.0.
2555 Standards for Mathematics (2010). students recognize others who have the same answer K88
9000000, 0,000 0.0,
O, 0.0 00 . . 0.0 0.0
0.0.0.0.%.0, . . . . 0000 0.0,
0.0, 000 0.0.0.0.0.
08RL . . - . on their individual cards, students share their solutions. 55
90,000 ’ 0.0.9.0.0
5555 The work with patterns in Grade 4 continues in Grade ) o 38
0. 0.0.0.0.0. 0.9.0.0.0.0
SRS d al d relationships. 5.0A.3 Students are extending their thinking through these %55
55555 5 as students analyze patterns and relationships. 5.0A. RS
CHXRXK 3 3 Y CRXRRS
XXX 1 . conversations and frequently challenging each other’s 255
0.0, 0.0.0 ’ 9. 0. 0.0
s extends students’ thinking to work with two sequences. q y SRS
RS . . thinking R
. o%s
iz Grade 5 also includes work on the order of operations s
0099099.% 0.0.90.0.0.0
9.0.0.0.0. . . . 0.0.0.0.0.
0.0.0.0.0.0 343 3 0.0.90.0.0.0
55555 and writing expressions. Answers for the Grade 5 Algebraic Thinking deck are s
0.0.0.0.0 0.0.0.0.0.
196949999 . . 0.0.9.0.0.0
XX KKK 3 0.0.0.0.0.
X KKK KX -_— 0.0.90.0.0.0
SR . rovided on pages 12-14 of this guide. KRR
.00, $.0.0.0.0.
(5555 Here is one group of four cards from the Grade 5 Alge- P pag 9 RS
0000 0.0. 9, 590909099
1900000, 5909099
0% 0009, . . 9090909599
CRRRRL 3 . CRRRRY
2% braic Thinking deck that all have the same answer, 5: e
SRR KRS
0’0’0’0‘0‘0 0.0.0‘0“‘0
0’0’0.0‘0‘ 0.0.0.0‘0“
9099999, 0,0,0,0.0.0,
9,0.0.0.0 00,000,
RXKK 3+4+5+6+7=25 XN
9, 0.0.0.0 9,0.0.0.0.
9090099, 000,009,
9,0, 0,00 0.0, 0.0.0
XK 2+3+4+5+6=20 SRR
e et ORRRAKS
SRRNR 5+6+7+8+9=35 SRS
0.0.0‘0“.0 0.0.0.0.0.0
0.0.0.0.0.0 0.0.0.0.0.0
0’0.0.0.0.0 0.0.0.0.0.0
0,9,0,0.0.0, N 0.0.0.0.0.0
DePe %% %% Lucy says,"Wow! I donit have to add these numbers. Determine the rule used to make this table. 25588K8K
0.9.0.0.9, 0.0.0.0.0.
SIS o o s i e SRR
0.9.0.0.0, - 0.0.0.0.0.
02000 0 %0 %! by the same value to get the sum. b0 %% % %%
.:.}:.:.:. ‘What value is Lucy thinking of? Be ready to explain your reasoning to your partners. ,:,:,:.:.:.
0‘0‘0‘0.0.0 0‘0.0.0.0.0
0‘0‘0.0.0.0 0.0.0.0.0.0
0.0.0.0.0'0 0.0.0.0.0.0
0.0.0.0.0'0 0.0.0.0.0'0
0.0.0‘0.0'0 0.0.0‘0‘0.0
0.0‘0‘0‘0‘0 0‘0‘0‘0.0.0
0‘0‘0‘0‘0‘0 0‘0‘0.0.0.0
0‘0‘0‘0‘0‘0 0’0.0.0.0.0
0.0.0.0.0.0 0.0.0.0.0.0
QIRKKK When | multipl, ber by 3 SRRKEKS
QRAKK en | multiply my number by SRRKEKES
’0’0‘0‘0‘0‘ and then subtract 8, the result is 7. .0.0.0.0.0.
QKKKKE SRKRR
SRR [OJ=20-8x2+1 RIS
0’0’0’0‘0‘0 0.0’0’0’0.0
0.0.0.0.0. KKK KK
0.0.0.0.0 1920000
0’0’0’0.0‘0 0.0.0‘0.0.0
0.0’0’0’0‘0 QQQQQQQ‘OQO
0‘0‘0’0‘0.0 QQOQOQO‘Q‘O
0,0,0,0.0.0, KKK KK
25588 ; inking of? QKKK
‘."““‘.‘ ‘What number goes in the box? ‘What number is George thinking of ‘.‘.‘. 0”’
9499499 9,090,900,
X2 0’0‘0‘0’0 0.0.0.0.0’0
X XK K2 0.0, 0.0.0.0
XX KKK 9,0.0.0.0.
K2 0‘0‘0‘0‘0 0.0.0.0.0.0
0’0‘0‘0‘0‘0 0.0.0.0.0.0
0‘0‘0‘0‘0‘ 0.0.0.0.0.0
5%0%%%, O.0.0.0.0.0
o 6 ZRARRK
QR 190000.0,0,0, 0.0, 0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.000.000.000.0.05.0.0.0.0.0.0.0000900000000000090.050090000 O.0.0.0.0.0.0.90.0.9.9.0.9.0,
s s RS
O.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.9.9, 0.0.0.0.0.0.0.0.0.0.9.9.9.% $9.0.0.0.0.0.0.0 00.0.0.0.0.0.00 6000
O.0,0,0.0:0.0.0.0.90.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00 909000000, 0 0. 0. 0. 0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.09.0.0.0.0.0.0.0.00.0.90009 94 %% 9.0.0. 0 0.0 702056 %% %6 %% % %% % % % %!
10.0,0.0,0.0.90.90.90.0.0.0.0.0.0.9.0.0.0.0.0.0.0.0.0.9.9.9.9, O 0000000000000000000000000000000000000000000000000000000‘0‘0’0’0’0’0’0’0.0’0’0.0.0.0.0.0.0.0.0. 702670 %% % %% % % % % %% %!
RRXHHHAIRRHHIICRRHIIRRKHKAIRRIRIXHHKS QRK R IR R KRR KK LK RIKRKRHK KKK KR KRR KR LK KRR XKLL RKLRLRRLRRK KR KRR KR EKEREKKLLKLKRRRAK 2SREALLLIELEE,
2RI QR IRRIIRIRIAIAKK QRIRIRRIIAIINRAIRN




0. 0,0,0,0.0.0.0.0.

0 RIS
R RIRRRIIIIARARILLIIRKR ::‘:::::::’:’:’:::::’:’:’0’0’0:0:0’0:0::::::::::::::::::::::::::':':::::::::::::::’:0:0: :0:::::.. 3!
(X0 $90%%.% 0. 0.0
$90900.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0, 00000000000000.0........QQQQQQQOOQQQQQOQQO" 0205020004
SRR pdeetels 000 0RIRRIIRRIIHAKIIIAIRRIIIRRRIIIKIIN
RRRRRRRRRRRRRLILIRRRL RRRRRRRLRRRKKELRR 23R R R RIS
:»:o:o:o:o:::Q:o:o:o:o:o:0:.:.0.0.%0. RIS KL R R R IXKRIKKS
090%0%09090909:0, 0,0, 0. 0 0 00 OO
000090909090909.0.0,0,. 0. 0. 0.0 OO
1969090999 0.%%%,
KK ided X
0%6%6%6%%% CRKKR
S D OPERATIONS Answers for the Grade 5 Base Ten deck are provided on S
RO NUMBER .. RS
00000000005 pages 15-17 of this guide. RS
90209092 % %4 %6 %%%
$96%6%6%%% %02 % %%
9609092 % %4 ° 1962 % %%
$96%6%6%%% 196%% %%
96%090%0%%%4 190%6%%%
96%696%%% 190%6%%%
009090%0%.%%4 1%6%6%%%
069090%%% 1%6%6%%%
QK KAKRR 06 %% %%
RIKEKKE pesssetetess
de 5 NBT standards NUMBER AND OPERATIONS - B
%%
ez The Base Ten deck focuses on the Grade stan SRS
SR f the Common Core State Standards FRACTIONS (5.NF) SR

3 X KX
252 laid out on page 35 of the Common : S8
KKK 3RRRRN
190000, 0.0, . 96%% %%
IIRKKS for Math tics JKRL
sk tor Mathematics. he Grade 5 NF stan- 55

3 - X
] h de s The Fractions deck focuses on the Grade 558
O %% 0 %%
096%6%0% %% . 0% % %%
QRIS h f four cards from the Grade S
QXK roups O : SR
%5555 Here is one of the group dards laid out on pages 36-37 of the Common Core State 55555
9622222, %6%% %%
S5558 Base Ten deck: . Grade 5. students use S5
QR : Standards for Mathematics. In Grade 5, stu RS
SIS . b d thev apply 5
% .

Q0SS equivalent fractions to add and subtract, and they apply 58
0.0,0,0,9,9.9 19099 %%
%% +3? L) 19499 %%
KKS 2 How do | solve 315.3 32 . q. . RRRRX
%% : 190%%%%
SR , . previous knowledge about multiplication and division SRS
2K 1 just break the number into parts: KKK
SR i i i d ake the connec- 5555
0K 300:3+15+3+03+3. to working with fractions. Students make s
0% $%6%6% %%
9% % . : $96%6% %%
%% : : $96%6%%%

%% .
S P ——— tion that a fraction is an equivalent representation of a 5555
::::: K Find the quotient. She purhased 3 sweaer o 18475 and abok o 1235 . .. h d inator. Stu den ts ::::::::::
Ms. O'Neill then spent $8 on lunct

:0:0: XL How much did she spend dting this shapping trip? numerator b elng dlv'lded by the denomina . .:.:.:‘:,:
% . s ber b nit
38 also work with division of a whole number by a u R
5 i i ion by a whole number. Students 5
S fraction and a unit fraction by a whole nu . 383
9% 00000 %%

%% . %006 %%%
9% . . : 6% % %%
KR 105,100 + 10° = work with these skills in the context of solving problems. — ££52%
0K $RIRRN

K K255582 1960 % %%
0’0’0‘0 ‘0‘0‘0.0.0
QKKK KRR
305000, ayotetelede
939 %% 0% % %%

X X% 0% % %%
QR Find the answer. Locate 105.09 on this number line. BAEAEKK
0.0.0 ‘0.0.0.0.0
90 %% Round this number to the nearest tenth. QKK
0.0.0 '0‘0‘0‘0‘0
SRS LKL
S Deedetete
S IR
RS h tunity to look at RS

0299, 0.0.0. %

555555 These cards offer students the opportunity SR
909090909499 96%%% %,

0%6%6%6%%% . s e e RS
CRXRRRRY : T, KHXRAXXS
ez using place value in division. They see the same answer, B3
SRR in di Providing opportunities for SIS
g32252% 105.1, in different contexts. Providing opp KRS
SRR i h problems enables them to 5%

O

ox2% the students to discuss such proble 58
LK pesssetetess
AEREEKE . . d t d : 12656062 %
35555 enrich their understanding. SRS
000000 %000 9% 06265655
190%0%%6%% 1265662 %
0L SRS
o RS

% 194%%
K
00000000000000000: '0‘0‘0‘

2RK 00000000000000000000000000000,0,0.0,0,0.0.0‘0,0,0,0,0,0,0................... XKL
RIS o:o:0:0:0:0:0:0:0:0::::::::::::::::::::::::::::::::::o:o:o:::o:o:o:o:o:o:o:o:o:0:0:0:0:0:0:0:::o:0:0:::0::::::::::::::.‘.:.:o:0:0:0:0:0:::0:::::::0:::::0::::::::::::::::::::::::0:0:0:0:0:::0:::::
‘.‘...:.:.:’:’o’0,:,:.20:0}%:0:0:0:0’0:o:.:.:.:.:0:0:0:0:0,:,:,:,:,:,:.:.: 5000RRIIIRKIIKR R :0’0:0:0:0’0:0:0’0’:‘:.:.:.:.:.:.’0:.:.:0:0:0:0:0:0:‘:0:0:0:0:0:0:0:0::‘:’:

SRRRARRRR ,’,’,’,’.’.’.’.’.’:‘:.:.:,:.:.:,:,:,:,:,:,:,:,:.:.:.:.:.......’......o‘o’o.:,:,:,:.:.:‘:‘:‘:,:,:,:,0,‘,‘ R RRERRERUIRARHRRRRRIRRIRRRRIRRALRRAILRAK

QR0 RRIRIRIRRRINRIRARAIARRIRIRRK




0.0.0.0.9.0.0.0.0.9
00000000000000000000000000000000000000000000000'0"0‘0‘0‘0‘0‘0‘0'0.0’0””””’0.0.0.0."”””““.......
S SRS SRS
0RERERREREEERERRERERERRRRRREREREREEIREEREER R SIRRIRIRHILIRRRIIRRHHIIRRKS 2K RERREERRRREERRREREEIRREREIIRREEERRERELIRRRRES RSRRRRRRARAX
G SSREREREREAERREIREIREIIRRREKER 02005RRLIEARLIIIRLIKRRRIKERLIKARRRIIKNRKKKERKRE 00 RIRRIRIIRIHRIRIRIIIIIIIIILRIANRIAK
0. 0.0.0.0.0.0.0.0 0000000000000000“‘000000000000“ 0.0.90.0.0.90.90.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0000000000060060660000 0650207020702 20 % 20 20 % %! 0. 0.0.0.0.0.0.00.00.0.0.0.0.0.0.0.0000 9,0.0.0.0 P00 000 40000,
03RRI REREREREIKKKKEKLK L KKK KLLKL, $IRNRAXLRARRRKR R RRRRRILRILIILIRENALIANLRRRILNIRKIAXKIARIHLIHNINN
000500305 QX R KRRIEEIKIRRERERR 025R8REREREKEIRERIRIIRIRERERIREREIREAIRIREIRIREIIIRIRIIREIRRRS .'.'o'o'o'o’o0000000000000000000ooooo000000o0000000000‘0‘0o.ooo‘o““‘,,‘,,,
R R R R R R R R R R R R R R R R R R R R R R R R KRKRRK, SRS
SR s
0,000 0.0.0.0.0.
0.0.0.0.0.0 0.9.90.0.0.0_
from the Grade 5 ASUREMENT AND DATA (5.MD) =
0% 3 Q Q
$88%  Here is one group of four cards from the Grade ME . RS
RS . 16 SRR
555555 Fractions deck that all have the same answer, 16: q R
0.0, 0.0.0. 5929:9:5.%,
SIS The Measurement and Data deck focuses on the Grade RIS
s - C SRR
LSS 5 MD standards, as presented in the Common Core s
KR . ds th R
S document on page 37 The work in Grade 5 extends the %8
R LK
R ing in Grade 4 by focusi n unit conversions 5555
RS learning in Grade y focusing o SIS
R different standard o
oS T and volume. Students convert among differe RIS
RRRRR T e avon e o an s om0 7 e e o iy aoeats con he e SRR
SRR Each group bt more . baoons . . . _ R
0.0.0.9.0.0. 1/4 of he ) \ber of ball 3 . 0.0.0.0.0.0,
00 e b o sl o e o measurement units that now include decimal values. Stu s
0.9.0.9.0.0 0.9.0.0. 0.0
0.0.0.0.0. : 0,000,
0.9.0.0.0.0 3 0.0.0.0. 0.0
0.0, 0. 0.0 00,000
SRR dents also explore the meaning of volume and determine RS
0.0, 0.0.0 094% %% ¢,
s f the base multiplied by the height repre- £
RS that the area of the base multiplied by g p R
::::::::::' 1 think that a square unit measures 3 3 1 h St d t :::::::::::
e itlong i sents the volume of a three-dimensional shape. Students &85
> 0‘0.0.0.0 1 unit Iong and 1 unit wide. 0‘0‘0‘0.0’0
KR . . . . . KRR
RS also continue their work with line plots to display data %5225
B : RS
S and interpret the results. B
0‘0.0’0.0.0 0‘0‘0‘0“.0
; S— IS
. . o many squre un
‘.::.":.: ‘The problem is 2 + 3 x 2. Help the boys determine the correct answer. e e :’:““,‘%
0.0.0.0.0 N 0.0.0.0.0
120% 0% %% ‘When you find the answer, your partners have double this amount. CRLBRRRL
0’0’0’0’ “ 0‘0‘0“““
0’0’0’0““ 0‘0‘0‘0““
0’0’0’0‘0‘0 0‘0‘0‘0‘0‘0
0’0’0’0‘ ‘0 0‘0‘0‘0.0.0
0’0’0‘0‘0‘0 0‘0‘0.0.0.0
0’0’0‘0‘0‘0 0’0.0.0.0‘0
$90%.9.9.%.%, 1.0, 0. 0 00
QLS : : : h t of division KKK
XX KK (9. 0.0. 0.0
555 The cards in this group illustrate the concept of divis S
0.0, 0.0.0.9, O 0.0.0.0.0
0.0, 0.0, . 0.0.0.0.0.
0.0.0,0.0.9, 00,0000
$555%  of a whole number by a fraction. Students work to make XS
S . . . he solution. O th R
£ sense of the situation to arrive at the solution. Once they SRR
s he card R
CHRXX 1 CRXRKS
255 have formed their group, students can compare the cards RS
s i mong th i ituations s
SXRXHS and make connections a ong the various situ . RS
XXX RERRAXRS
0.0.0.0.0.0
RS F : deck rovided on SRS
XX 0.0, 0.0,
s55se Answers for the Grade 5 Fractions deck are pro KK
0. 0.0.0.0.0 0000000,
SRR £ thi id KRR
555555 pages 18-20 of this guide. SIS
oetetetete! KK
0.0.0.0.0 1909:9.0.%,
O 0’0’0’0’0 0.0‘0“‘0.0
0‘0’0’0’0‘0 0’0‘0’0“‘0
0‘0‘0’0‘0.0 0‘0‘0’0’0"
0‘0.0‘0.0.0 0‘0‘0.0’0’0
0.0‘0‘0‘0‘0 0‘0‘0‘0’0’0
0’0’0‘0‘0‘0 0‘0‘0‘0’0’0
0’0’0’0‘0‘0 0‘0‘0‘0.0’0
0’0’0’0‘0‘0 ‘0‘0‘0‘0’0
0’0’0’0‘0 O 0‘0‘0‘0‘0’0
0’0’0‘0‘0.0 0‘0‘0‘0‘0‘0
0’0’0‘0‘0‘ 0‘0‘0‘0‘0‘0
5%0%%%, O.0.0.0.0.0,
R 3R R R R IRRHKIANKS
R K SRE5RERSREREREEREEIREKREEIRELEIELERIREEIREKL 23EHIHIHIRRIRRHRIRHIRIIRHIRIILHKIRKHHIHKARKS
38 R R R R R RS e s
R8RSR EREEREERERRIERELEREKER IRKHIIHIKHXIIIIIIHXIRIIHIIIHIHHKIRIAIKHHKIHKIX 0000202026262 %205 QRIIRRHREIRIRERLRIIRRKS SREREREEREIREIEAIREE
e e et e e e ettt e e e e e e e e e e e et ¥ e e e e 0 0 e e e e e e e e 2 e e e e e % B e e ¥ e Ut e e te S dota e o tototototetotototo tetete ot tetatet ZHXRHRRALRRLRRLRRLIRLHLLIRLERXRRLRKLRRLRRLRRLIRRRRRRHRLKHRIRKK
D et e e e ettt e e e T e e e e e e e e ¥ e e et ¥ % e e e e o e e e 2 e e e e s 2 e e e ¥ % U e e e te bt te e o ot to to te e ot toto tatote Yt atete o’ G0 RIIRRIIIRRIIIIRHINIIIIEKIICKRIANR
K ERRRREEIRRERERRRRRRRRRRRREEIRREEEAIRRREKR SXRRHLRXLRRLRRLIRLRLXRLIRRUILRRLLIRLRRLRRLRRLRLRRLRRRAILIKRIK 3R RRIRRIRRIRIRHLIALIRIIRRIIRIIRRIIILIAIIANKHK
0 IR0 IRIRRIIRRIIRIIIIRIINANRN QR RRRRRIRIRRHIRLIRRRIRIRINIRIORERARIRAIIKHNRRK
IR IR R R R R R R IR



:%6%6%4%%
126%6%6%%

&
R IRIIRKRIKS

Pototete!
.fvvv et
KK
o
KKK AKIKIKIKKIKIOA AR IAKAAA RN

0% %
1 20%%
%
o
AL

0000000000, 0. 0.0, 0,0, 0,000,090,

o

0000000000000 000,00, 0.0, 0.0.0.0.9,
'

0900000000000, 0.0, 0,.0.0,0,0.0.0.0,

o
0900000000000 00,0, 0.0, 0,000,009,

1900.0,0,0,0.0.0.0.0.0.0.0.0.0.0.0.%

0000002020 %0%0909.9.9.9,9,9,9.9.%%
'O

o
RN
o

KRS
dode!

o
00

2,
X2
KKK
&
o
R

O
K

X
&K
2

0.0 o
X
%
&
QK

00000::000:0000000¢%§ R
2RIANRIANRIALIHIXHALRRLRS
R HHRRRRHARRRRKRRK,

Here are four cards from the Grade 5 deck that all have
the same answer, 168:

=

‘The dimensions of Box A are 3 cm x 3 cm x 8 cm.
‘The dimensions of Box B are 2 cm x 6 cm x § cm,
What i the total volume of this shape in cubic centimeters?
Be ready to explain your thinking to your team.

Juan has 168,000 centimeters of rope. How many meters s that?

®

How many unit cubes will it in this box? Maria spent v of her money buying  gif for her mother.
She put half of the total amount of money in her savings account
The remaining amount of money is the same as the cost of the gift she
purchased: $42. How many dollars did Maria begin with?

This set of cards focuses on making conversions, finding
volumes by combining two shapes, reflecting on the ori-
entation of a box and how that might affect the volume,
and solving a problem involving fractional amounts of
money.

In the process of finding their partners who have the
same answer, students discuss and share their work.

This provides opportunities for them to deepen their

RS
RRRRRRRRKS

v %

understanding and perhaps extend their thinking on the
measurement and data concepts being taught.

Answers for the Grade 5 Measurement and Data deck
are provided on pages 21-23 of this guide.

GEOMETRY (5.G)

The Geometry deck focuses on the Grade 5 standards
in the Geometry and Measurement and Data (geomet-
ric measurement) domains as presented in the Common
Core State Standards on pages 37-38. In Grade 5 students
are asked to extend their thinking from their work with
perpendicular and parallel lines in Grade 4. They graph
points on the coordinate plane to solve mathematical
and real-world problems and classify two-dimensional
figures according to a hierarchy of properties. In the
geometric measurement domain, students calculate the
volume of three-dimensional shapes and relate volume
measurement to multiplication and addition.
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ALGEBRAIC THINKING GROUPINGS

I’m thinking of a number. When | do
number and divide by 5, the answ

3x(2+3x%x2)-
ANSWER

20
|

Joe says the answer is 26. Find Robertos number.
Jamal says the answer is 20. Which answer

(If neither boy is correct, your team has the a

ANSWER
2

Teeve%eYe

RRRRKR

How many times greater is the last value in the sec Find the value.
last value in the first table?

Be ready to share your process with your,
Share with your partners what caused this

0020000000 00060 %404 %%
QORKKRKERK,
2IXRRK

0006062 % %

290502 %% % %%

2
%%

Find the sum of 12 an
ANSWER ; and then multiply the res
40

—
QRKHKK
LK

If this pattern continues, how many Qs will be i Write the expression and then find its

Be ready to share your thinking with yo Be ready to share your expression with

$0.0.0,0,9,0.0.0.0.0.0.0.9.9, $0.0,0.0,0,0,0.0. 0.0
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Four times the qua 10 x 20 x 100 + 1,000

two plus three

Write the expression and then find its Find the value.

Share your strategy with your team.
How could you calculate this mentally?

I don't think even numbers Mostly you're right,
can be prime numbers. but there is one
\/ even prime number.

ubtract 4 and the resul

‘What is the number? What is this even prime number?

100%x40+10+1 2x(4+8+2)+24

Do this calculation. Try to do it ment: Half the class thinks 36 is the answer.
The other half disagrees. Find the correct answer.
Share your strategy with your tean
Explain to your team why 36 is not the correct answer.
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ALGEBRAIC THINKING GROUPINGS

RHRRRRAX,

5%

Think of any numbe
Multiply your number
Add 9.

0%

5+3x2+7
6 ANSWER
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ALGEBRAIC THINKING GROUPINGS

ANSWER
14

Robin says, “This looks hard, but I'll do it one
What answer does Robin get?

Show the steps of your solution on another s

ANSWER
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Luigi thinks, “If I work with the numerator first
denominator, maybe it will lead to something

Try Luigi’s approach to determine the sg
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8x(3+2)
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Find the value.

With your team, discuss how you could write the
without using the “x” to indicate multipli

SOROIRLIKKKKAKANKEL
G 0000 0.0.90.9.0.9.9.9.0.0.0
$9000000,0,0,0.0.0.0.9.0.0.0.0.0. 0.0
$9.0,0,0,0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0
1909090009.0,0.9.0.9.0.0.0.0.0.0.0.0_
$909000009.0.9.9,0.0.0.0.0 2
2 QRIS
SRR EEIREREEEEERERRRREEELLEARS

%
BK,

1000020200000 00 90 %0 %%
QORRKKKIEKE
SRR
SRRIRIRRANK
0IRIRIRRRL KRR
SRRHRIANLIIKS QRRRRKIINLIIRS

2(3+4)=23)+2
10+4=7(2)
2+2+2+2+2+

Harriet thinks these number sentences and
all represent the same value. If she is correct, your t¢

(If she is not correct, your team’s answer i

14+6+2=10
2+3x5=17
8+(3+3)+2-=

The equation with the correct solution matches yo|
Find that solution.

Work with your group to explain the errors in the o

Find the value.

An incorrect answer to this problem is 28. Discus:
‘What mistake is being made to get that wrox
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Ralph is thinking of a number. His number is prim
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What is Ralph’s number?

I'm thinking of a number. If | multif
number by 3 and add 4, my answe

A\

‘What is Malcolm's number?

2325250525,

RIS
pesesosetesatetetetetess
S RIRRIARRIRRNS

0. 0.0
SRR LERERILRARERR

o,

QKKK KL

There are 252 seats in the auditorium at Mathville Middle School. If
there are 18 seats in each row, how many rows are there?

Be ready to explain your answer to your team.

10 x17x100 + 2 x 2 + 1,000

Sarah thinks, “This problem looks hard, but I know how to divide and
multiply by 10, 100, and 1,000. I think I can do this mentally”
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If you have 10 times this amount, how much w; Mario’s Pizza Plaza is planning for a busy lu; Alfinio has 30 candy bars. There are 10 children in Henry's family, including Henry.
They have baked 30 pizzas and cut each pizza He wants to break each candy bar into 10 bite He and his brothers and sisters have saved $3,000 over the last 5 years.
Each piece will be 1/10 of the whol If they share their money equally, how much is each person's share?

How many slices of pizza have been made f} How many pieces will he have altoget
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What is this number? What is this number? ‘What number is this? ‘What is the quotient?
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Correlation to the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.
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4X102+8>(1O+6+2x% Divide 48,623 by 100

Four hundred eighty-six and twenty-thre 3 hundreds + 18 tens + 6 ones + 2 tenths
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What is this number? ‘What number is this? ‘What number do you get? ‘What is the quotient?
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One bookcase in the library has 14 shy
Each shelf holds 16 books.
How many books are in this bookca

There are 2,240 crackers in the giant-sized
The teacher wants to divide these crackers amo:
How many crackers will each student have

Solve this equation. Joey built the number 2,240 using base-ten blocks.
He did not use any thousand-blocks or hundred-flats.
How many ten-rods did he use?
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Find the quotient. Ms. O'Neill went shopping for holiday Find the answer.
She purchased a sweater for $84.75 and a boo
Ms. O'Neill then spent $8 on lun
How much did she spend during this shop

Correlation to the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.
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Mom brought four pizzas home. Solve this equation. Each rectangle equals one whole.
I was so hungry that I ate 1/4 of each j How many rectangles are shaded altogether?
How many whole pizzas were left for my fa

Solve this equation.
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What fraction should go in the box Eight friends shared five large sandwi Solve this equation. Express as a fraction.
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Nine friends want to share 4 pizza Using this number line, how long is the Two-thirds of the columns are shaded %
How much pizza will each friend be gi Two-thirds of the rows are shaded [l
‘What fraction of the total picture has both types of shading?

Express as a fraction.

(Give your answer as a fraction.)
(Give your answer as a fraction of the 4
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Six friends want to share 5 candy ba Solve this equation.
‘What fractional part of the 5 candy bars will ea

(Give your answer as a fraction.)
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My brother had three apples. I ate 1/3 of each There are 4 windows here.

How many apples did my brother have;
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Express as a whole number.

Solve this equation.
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Four teachers are presenting their stude: ‘What is 0.75 as a fraction?
They have 3 hours to do this.
What fractional part of an hour will each te:

if they share their time equally?

Find the equivalent fraction with the smallest denominator.
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Marie has 4 pieces of cloth. She wants to make clot]
using 1/5 of a piece for each doll.

How many dolls can she clothe with these pie;

Be ready to share your strategy with you
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Terry brought home two rectangular pizzas to shar
The two pizzas were the same size. Terry was so hu:
of the first pizza. His brother Barry then ate 1/4 of
‘What fractional part of the 2 pizzas did Terry a
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Brian has some baseball cards. He wants to put
Each pile represents 1/5 of his carc
What is the smallest number of baseball cards tha
Discuss with your group: Are there different answer,

Your teacher has 4 apples. She wants to use 1/4 of
dessert. How many desserts can she

The rope is the same length as one unit from each
long is the rope?
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An orange grower is packaging the fruit to send
He has 360 oranges to put in 18 craf
How many oranges will be in each cr]

The answer is 10.

The problem is 2 + 3 x 2. Help the boys determine t:

‘When you find the answer, your partners have dot
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| think that a square unit measures
1 unit long and 1 unit wide.

How many square units are in a rectangle
that measures 4 units by 4 units?

Deval invited 11 friends to his house to have pizza.
Deval's mother purchased 7 pizzas for the boys to share.
‘What fractional part of the 7 pizzas
will each of the 12 boys get to have?
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Abbi spent /5 of her money for lunch. She spent ¥4 o Bob packed cubes in a box that he was sending t. Peter Pascal said that he could change 0.06 to 6 by usi The number of pennies in a dollar is the same as
had left on a movie ticket for $12 and refreshments f The area of the base of the box measured 5 inches If Peter plans to multiply, what value the number of centimeters in a meter.
dollars did Abbi have in her purse at the beginnin The height of the box was 10 inches. ‘would he multiply 0.06 by to obtain 6'
How many cubes the size of one cubic inch could fi What is this number?

When we convert met
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millimeters, we use the

value as when we cor 10 1 0 3 = ? 22020202
liters to milliliters ANSWER
10 — 1,000

What is the value used in these conversic How many unit cubes will fit in this ba’ Matilda thinks that 10° is the same as 30. Do y. If a beaker will hold 1 liter of liquid, how many milliliters will it hold?

o
o
255

%
3%

$9090000:0.0,9,0.0.0.0.0,
R R KRR KKK LLIKEK

<}

XX

<}
2]

0000 0. 0.0 0 0 0 000000 0000900. 000 0. 0.0 0,0 0. 9.0.0.9.0. 0. 0.9.0,0.9.9,
9%
12000 %6%!

0%6%690%%6%4%%%%
%%

19.0.0.0.0.0.9.9.90.9.9.90.9.9.9.9.9.9.9.9.9.9.9.0.9.9.9.0.90.0.0.0.0.90.9.9.9,
2

RRAERRK
90 9% 0%
9e9% 0%
XXX
RS
SX0Re

)

=

o eteds
%

%

12620262626 %6% %% % %%

oo
% 23
SRRIIKK]

RIS

%

Be ready to explain your thinking to your Your team members have the correct answer to t;
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ANSWER

o
Fractional Part of One Dollar 1 0

Volume (V) = length  width * height
1 1 1
'Val knows that a box holds 100 unit cubes. The bz Rogelio knows that the volume of his box is 5. Students at Mathville School were collecting money to Clarissa is making a small box to put in her dollhouse.
measures 5 units by 2 units. How many layers of The height of his box is 25 cm and the length of the; This line plot shows the fractional amount of one d The height of the box is 1 cm, the width is 2 cm, and the length is 5 cm.
will there be if she fills the box to the tc How many centimeters wide is the bast student contributed. What is the total amount of dt ‘What is the volume of Clarissa’s box in cubic centimeters?
students contributed to the charity?

1 1 1
be found at didax.com/cccc.
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The dimensions of Box A are 3 cm x 3 cm »
The dimensions of Box B are 2 cm x 6 cm x
‘What is the total volume of this shape in cubic ¢
Be ready to explain your thinking to your

Juan has 168,000 centimeters of rope. How many n;

How many unit cubes will fit in this ba

Maria spent ¥4 of her money buying a gift for her mother.
She put half of the total amount of money in her savings account.
The remaining amount of money is the same as the cost of the gift she
purchased: $42. How many dollars did Maria begin with?
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How many unit cubes will fit in this ba;

Be ready to discuss your thinking with yow

‘What value goes in the box?

Share with your team how you found the ar

How many cubic units is the volume of eact

Your team has the same value as the larger

How many cubic centimeters is the total volume of this shape?

Be ready to share your thinking with your team.
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Mattie made a table for converting between meters a
Fill in the missing values on a separate sheet

(Your partners have the same value as the last entr
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Clara is confused. “These two prisms look so ¢

Can their volumes be the same?” If both prisms have {
your team has the same number as the volume. If yo
volumes are different, your team has the answ

|

Sally filled this box with sugar cubes. She packed 1:
altogether and she packed 5 complete lay

How many sugar cubes must be in each l¢

‘What value goes in the box?
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A: Asquare s a special rectangl.
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What is the coordinate of the indicated p

(Your partners have the same letter answer a:

‘Which shape is not like the others?
Discuss with your partners why this is t

B: A rhombus is  special rectangle.
C: Asquare and 2 rectzngle both have four 90 degree angles.
D: A rhombus and a square have four equal sides.

Which statement is not true about the above

(Your partners have the same letter answer ag

A: Atriangle can have two right angles.
B: A scalene trizngle has two angles that are congruent.
C: Aright triangle can be scalene or isosceles.

D: An equilateral trizngle has three congruent zngles, but the sides may

Which statement is true?

(Your partners have the same letter answer ag
(Your partners have the same letter answer a:
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Pedro earns an hourly rate walking dogs. Use the gra
how many dollars he will earn for 9 hours g

246810012

Sally is packing a box with cubic-centimete;
How many can she fit in a box that meas
3 cm long, 3 cm wide, and 5 cm tall?

A: Triangles have 3 sides.

How many blocks must Jimmie walk to get td
and back home again? (He cannot cut across a

(Your partners have the same letter answer a:

‘Which shape is not like the others?
Discuss with your partners why this is t

(Your partners have the same letter answer a:

‘What value goes in the box?

o

B: Allsqueres have 4 right angles.
C: Some triangles heve 1 ight angle.

D: Disgonals of a rectangle are the same length.

Sonia said, ‘I know that all rectangles have 4 right angles”
Based on this fact, what else can Sonia conclude?

(Your partners have the same letter answer as you do.)

‘Which point is located 4 units to the right of the origin
and 2 units above the origin?

(Your partners have the same letter answer as you do.)

The volume of a rectangular prism is 900 cubic feet.
How many feet long is the missing side?
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Gracie says that all rectangles have 4 right angles. Manny thinks that a right triangle can be Desmond thinks that acute triangles have thi Sarah says, ‘All rectangles are also parallelograms.”
squares must be rectangles because squares have scalene or isosceles but not equilatera that measure greater than 0 degrees but less tha
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Matt states that rectangles have all the same properf| Luke thinks that trapezoids and kites have all the sa Mary Ann says that rhombuses are really s Angus stated that an obtuse triangle has three angles
because they are both quadrilaterals, because they both have 4 equal sides, that all measure greater than 90 degrees.
(If you agree, the answer is “yes” If you disagree, the
(If you agree, the answer is “yes! If you disagree, the (If you agree, the answer is “yes! If you disagree, the (If you agree, the answer is “yes! If you disagree, the answer is “no!’)
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A 2,4 A: Allisosceles trizngles are also scalene triangles. A: 51em =51 mm ANSWER
B: (3,2 x B: Allsqueres are also rectangles. B: 2 square feet = 24 square inches
C: (4,4 C: Trapezoids and kites are quadrilaterals C: 1 cubic foot = 144 cubic inches A
D: (1,4) D: A hombus is 2 special parallelogram. D: 150 cm=15m

0;0;0;0‘0'

Michael started at the origin and counted a tota Which statement is not true? Which statement is true? Betsy started at the origin and counted a total of 8 units
before placing a point. Which ordered pair mig before placing a point. Which ordered pair might represent
the point on the coordinate plane? (Your partners have the same letter answer ag (Your partners have the same letter answer a: the point on the coordinate plane?

(Your partners have the same letter answer a: (Your partners have the same letter answer as you do.)

Correlation to the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.

SRR R R R R I IIRIRRILIRALRLRLRRIRIRIRRRKS
20RRRRIRILIRILIRRRRRRRIARRAURARARANIHILIRIAIRHRHRHRKRRIRIRIRIRIRIRAXIRARIHLHLHLRRIKIRHNRIKHKS

&%
X
o,
o
o
o, 0'
o
o,
o,
0'0
etoe:
2%
RS
botede!

IR IIRIIRIRIIRIIIRAIEL SRHRHRHRN
ORI IRRIIRRIRRIIRIIEIKKKKLS QRRIOIRINIIKLAIKKEKS QRRIRRARNKS
% 0RO K IRIIIRIOIRINIIILAIIRLS QRRARRIRNIK,
QKKK QI RIS SRR
RIS 20RIRIRIRAK QRORIKKKIEIRAS &
OR5R5Q5QREERREREREEEIRREREEIREREREREREREEIRREEREEIEEREEEERR RSB EEIREREEEEERERERREREEELEIIRREEKES QSRR EIERRREEEEIREREREEREREEAERIRREREELEKIREELEKE




K2 R

R

1902050502 % %6 % %6 84 4 % % % 000000 %0 %0 %620 %0 06 00 0% % % %6 %% %

QIRRIIRKKEELEL O0RRERIAKKRKAKIKRR R OO e e e e e e e e e et e e e et e e e ot e e e sateleletetetotote e tetetototeede
IORIRRIARKEK OOt esasatete e tetetetetetetetotels! Q3R RRAIRRIIKKIRRKIIRRS
QRIRIKKIKRLKK 2R LRRKKK 25 QRRIRIIAIKAIKAAKAAKAAS 28 2% KRS
KRS QRIRIRRIRIKKLIKRLKKKLIEK % QRRRRIRILIKALIEALIEIIRIRIRIIKLIKKLIKKIELIS

23258 20RIRRRRKKLIKKKKRKEK QRN

R R R R R R R AXIRXAKAK R R R R R KKK
RRRRRRRRRRRRRRRKS R RRRRRHRRRRRRRRKS 202050202020202020202020%02020 %03 20%0 2020202020 2030202000203 0202000202020 20 02020020 2020 e S0

GEOMETRY GROUPINGS

e setetetoteteteteteetete!

&
GIIRRKKKK

25
&%
&%
&
2
S

%
ot
o

0958,

&
5%
2o

K 2K 2505050505050505¢

O

5000000000000 00 00000000 0.0, 9. 0. 0.0
2

K 2K K0505050505055¢

: The volume of the small rectangular prism
is 6.0 cubic feet.

: The ares of the base of the large rectzngular
prismis 6 square feet. A: The volume becomes twice s much.

The total volume is the sum of the volumes B: The volume increases by 2 cubic units.
of the two prisms. C: The volume s 4 times greater.

ANSWER LELSES A 2,4

has some congruent sides. B: (4,0) x
[ D J =5 some congruent angles. C: (1,4 R

has congruent zngles and congruent sides D: (4,2)

o

: The total volume is 36 cubic feet. D: The volume is 8 times greater.
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Roberto asked, “What is a regular polygd Mary plotted (4, 6) and (1,2) on the graph. If she ‘Which statement about the above figure is nf A cube has sides that measure 1 inch. What will happen
Choose the correct definition. right triangle, where could she place the thi to the volume of the cube if the side measure is doubled?
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(Your partners have the same letter answer a:

0NN

(Your partners have the same letter answer a: (Your partners have the same letter answer ag (Your partners have the same letter answer as you do.)
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1,500 g = 1.5 kg
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‘What value did Joe multiply or divide The volume of the larger cube is how many ti ‘Two cardboard boxes each measure 10 in. x 10
to make each of these conversions? than the volume of the smaller cube’ Together, how many cubic inches do the two bd

What is the volume of this rectangular prism?

Your team’s answer is the volume of this prism cut in half.

o X X o
1900 %% o 'O o0
0’000’0.0‘0 D000 76%0% % % %%

O

90%%%

Patetote!
RRRRRK

ANSWER
10

OIS 1234567891011
SRR HK
XXX XXX

How far is this point from the origin’ A rectangular prism measures 5 cm by 2 cm ‘What value goes in the box? The volume of this rectangular prism is 341 cubic inches.
How many cubic centimeters is its volu Find the height of the prism (x) in inches.
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GRADE 5

TEACHER GUIDE

Practice and reinforce the content from the Common Core
State Standards with these innovative activity cards.

Created using the five domains from the Common Core State Standards, these cards
actively engage students in problem solving and promote mathematical discussion.
Students solve the question on their individual card and then look for others who have
the same solution. The four students holding cards with the same answer form a
group; the back of their cards show the role that each student will play as the group
works on the next task. Based on the most recent research about the effectiveness of
collaborative learning, and in accordance with the Common Core Mathematical
Practices, these card sets can be used repeatedly to group students for an upcoming
unit or problem-solving lesson. Cards can also be used for small-group instruction or
as an independent activity. Each grade-level set includes 36 durable, two-color cards

per domain for a total of 180 cards. Teacher Guide includes suggestions for classroom

use, answers, and access to website with additional tasks and resources.




